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unsigned 1nt v0; // eax

int len; // eax

FILE *v2; // eax

FILE *v3; // eax

signed int result; // eax

char strr[25]; // [esp+10h] [ebp-44h]
int v6; // [esp+2Ch] [ebp-28h]

int input[8]; // [esp+30h] [ebp-24h]

sub_401AD00);

strcpy(strr, "1A2F943C4D8C5B6EA3CIOBCAD7E™);
vO0
v6
do

0;

input[v0] = 0;
++v0;

}

while ( vO < 8 );
puts("input your key:");
scanf("%s", input);

len = strlen(input);

}f ( len <= 19 )

printf("too short!");
result = -1;

}
else if ( Ten > 30 )

printf("too long!™);
result = -1;

else
if ( check(input, strr, Ten) )

printf("congratulations, your input is the flag A_A");
else
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strr[8] 0x30;

strr[9] = 0x11;
strr[10] = 0x50;
strr[11l] = OxDOu;
strr[12] = 0x82u;
strr[13] = 0x23;
strr[14] = OXAEu;
strr[15] = 0x23;
strr[16] = OXEEu;
strr[17] = O0xA9u;
strr[18] = OxB4u;
strr[19] = 0x52;
strr[20] = 120;
strr[21] = 0x57;
strr[22] = 0OxC;
strr[23] = 0x86u;
strr[24] = Ox8Bu;
if ( Ten == 25 )
{

vs = 0;

do

{ .

v1i1[v5] = _ROL1__(input[vs], 2);
++Vv5;

while ( v5 1= 25 );

ve = 0;

do
v1l[v6] A= strtohex(str, v6);
++VE6;

while ( v6 1= 25 );

v7 = 15;

for ( = 0; v11[i1] == v7; v7 = strr[1] )

if ( ++1 == 25 )
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#include <stdio.h>
#include<iostream>
#include<iomanip>
#include<stdio.h>
#include<string.h>
#include<algorithm>
#include<vector>
#include<iostream>
#include<map>
#include<time.h>
#include<queue>
#include "windows.h"
using namespace std;
unsigned char strr[25];
char str[]="1A2F943C4D8C5B6EA3COBCAD7E";
int strtohex(int index)
{

char v2; // al

char v3; // cl

int v4; // eax

int v5; // edx

v2 = str[index];

v3 = str[index + 1];

if ( (v2 - 48) > 9u )
v2 -= 55;

v4 = v2 & OxF;

v5 = (v3 - 55) & OxF;



if ( (v3 - 48) <= 9u )
v5 = v3 & OxF;
return v5 | 16 * v4;

¥
int main()
{
strr[0] = 15;
strr[1] = -121;
strr[2] = 98;
strr[3] = 20;
strr[4] = 1;
strr[5] = -58;
strr[6] = -16;
strr[7] = 33;
strr[8] = 48;
strr[9] = 17;
strr[10] = 80;
strr[11] = -48;
strr[12] = -126;
strr[13] = 35;
strr[14] = -82;
strr[15] = 35;
strr[16] = -18;
strr[17] = -87;
strr[18] = -76;
strr[19] = 82;
strr[20] = 120;
strr[21] = 87;
strr[22] = 12;
strr[23] = -122;
strr[24] = -117;
for(int i1=0;i<25;i++)
{
strr[i]~=strtohex(i);
//printf("%x\n",strtohex(i));
strr[i]=((strr[i]>>2)]|(strr[i]<<6));
printf("%c",strr[i]);
}
//printf("%s\n",strr);
}
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